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Write all answers in your blue book. Show all of your work. 







1. Provide the economic definition of each of the following terms. 
(a) (5pts) depreciation 
(b) (5pts) investment 





2. Consider Fisher's simple savings model, as described in class. This is a two-period pure exchange economy with one non-durable and divisible consumption good at each date. There are many non-identical consumers endowed with quantities of the goods, and nothing else. Suppose the market interest rate is r=0.1. A particular consumer, Ray, has an endowment of 50 units of the date 1 good, and 10 units of the date 2 good. 

(a) (10pts) Graph Ray's budget line. Label the axes on your graph, the intercepts of the budget line, and the point that represent Ray's endowments. 

(b) (10pts) At Ray's consumer equilibrium, he saves 40 units of the date 1 good. On your graph, indicate the amounts Ray consumes at each date. On your graph, indicate the indifference curve Ray reaches when he consumes these quantities. 

Ray has the opportunity to undertake an investment project which requires spending 5 units of the date 1 good and provides benefits of 8 units of the date 2 good. 

(c) (10pts) On your graph from above, show Ray's new budget line if he undertakes the project. Label the x- and y-intercepts for this budget line. 

(d) (10pts) On your graph, indicate the net present value of the project. 

(e) (10pts) On your graph, indicate the indifference curve Ray would reach if he took the project. 




3. Theories of savings often claim that if the interest rate falls while everything else stays constant, then borrowers will wish to borrow more. Consider the validity of this claim in Fisher's simple savings model. 

(a) (10pts) Draw a budget line and set of indifference curves for a person who wishes to borrow at the current market interest rate, r. Indicate on your graph how much this person wishes to borrow. 

(b) (10pts) On your graph from part (a), show the new budget line the individual faces when the interest rate falls to r*. Indicate on your graph how much this person wishes to borrow now. 

(c) (10pts) Is it necessarily true that every individual will wish to borrow more as the interest rate falls? Explain, with reference to Fisher's simple savings model. 




4. Consider a project that provides a constant and regular stream of annual benefits which start 10 years from now and continue for a total of 30 years. The benefit each of these years is $1000. The costs start next year and continue for a total of 50 years. Next year the cost will be $100. The year after the cost will rise by five percent to be $105. In each subsequent year the cost will likewise rise by five percent. There are no other costs or benefits to the project. The market interest rate is six percent. 

(a) (20pts) Calculate the present value of the benefits of the project. 
(b) (20pts) Calculate the present value of the costs of the project. 
(c) (5pts) Should the project be undertaken? Explain. 




5. (15pts) Consider a stock share that will provide annual dividends of $4, starting now and continuing forever. Assume there is no uncertainty. What information do you need to determine the equilibrium price of the share? Explain how you would calculate the equilibrium price, given this information.
